English Class10th | = —

(Compulsory) | Lahnre Broraami . Lype

Time Allowe ’ g Marks: 19
20-Mirknle

i il | A s
Nose- cour possible answers A, B, C and D to each question are
given. The choice which you think is correct, fill that circle in

front of that question wnh Marker or Pen ink in the answer*beﬂk

Cuumg or filling two or more circles will result in zero mark in

that question.
choose the correct form of verb and fill up the bubbles sheet :

|-  She - French at present.

(A) is learning (B) learnt
(C) was learning (D) learn
2 She - in this office for seven years.
(A) had worked (B) worked
(C) is working (D) has been working
3 After you - | went to sleep.
(A) has left 6 PagUg L
(C) leave L) WL leave
a4 I\ L wiieht the door bell rang. |
(A) made (B) making
(C) was making (D) make
5 It - to rain an hqur-iagﬂ.
(A) begins ~ (B) began
(C) begin (D) will begin
cloose the word with correct spelling and fill up the bubbles
sheet : _ |
6 (A) Customary (B) Cusstomary
(C) Costomary (D) Custommary
7 (A) Intersede (B) Entercede
(C) Entersede (D) Intercede
8 (A) Leisur (B) Leisure
(C) Laisure (DAY icuee
9 (A) Sequance '_ ) paguence
(RN e qugnes (L) Sequéncﬂ
& aouse wne correct option and fill up the bubbles sheet :
T Erestl.pk
(A) date u G-p
(C) new (D) old
il The antonym of " consume " is :
(A) utilize - (B) use
(C) save (D) expel
12 Last summer, we - many places.
(A) visited (B) have visited
(C) visit (D) visits 1
13 ' The most vulnerable will be population in developing

countries'. The underlined word means :

(A) secure (B) in danger
(C) still ' (T ald -
14 She was. anory —~hV behavitnp: -
TR oy W) L0
C) trom | (D) at
Choose the correct 6pﬁun according to the grammar and fill
_up the bubbles sheet : ,
15 ' FI vine above the lake at this time of nisht seems a little

dangerous'. The underlined phrase isa/an:
(A) infinitive phrase  (B) prepositional phrase
(C) appositive phrase (D) gerund phrase |
16 [ am afraid I cannot afford to spend too much money. The
 underlined part of sentence isa/an :

(A) gerund (B) participle
(C) infinitive : (D) preposition |
17 The watchman blew his whistle. The underlined word is a
/ an - verb.
(A) transitive (B) intransitive
(C) regular (D) auxiliary
18 Because he was late, he miscad the tiegy epid@. ..o

underlined-part of \ivy sewtendets asan 7

(AVd#nenvenoowow () Independent clause

(U )'telative clause (D) adjective clause

19 Maria fell over the cat. Identify the phrase.

(A) infinitive phrase  (B) prepositional phrase
(C) gerund phrase (D) absolute phrase
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